3 ENERGREMBEMRMICETIRE

EEHh & B #&3E (Ba/ke)
R (%*s ~ ol
= JERE M B = 1 SrL kb e s RE B R
Ol RBEER el | AR | o | CWER | AT SE# g ot EAHE. el BEE | (AR | #BIE | co134 | Cs137 | CsBd
' HAEFHRE-B&&AE
%)
EIEERE == O 42,-32.RH = il e 2 RO A O -
1 0 g e oe — — — TRiE N 2R ELRAKEL — EELBMEEMREHR Ge R1.7.10 R1.7.19 £0.97 1.2 <2.2
T._ o] e =] m'ﬁLEL, oL > . == O 0 4a- =
2 g%iz‘;;@% — — — SRR 4:*"@‘2% H RE—D—R — EIEELESEEHER Ge R1.7.8 R1.7.19 <1.0 1.2 <2.2
ITEZEL =z o 2L-3IR . [P -
3 Eé’;iﬁ;;ﬁi% — — — JRiE ¢*L§n% ~NE—T7—F — EMNEELBLEERAEMR Ge R1.7.10 R1.7.19 <0.89 <1.1 <1.9




